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Q.1 A straight line 55 mm long makes an angle of 30° to the HP and 45° to VP. The end A is 15 mm above HP and
12 mm in-front of VP. Draw its projection. ~pvL ) (5]
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Q.2 A straight line AB 90mm long is inclined at 30° to the HP. The end A is 12 mm above HP and 20 mm in-front of

VP. Its front view measures 65 mm. Draw the top view of AB and find its inclination to VP,
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Q.2 A straight line AB 90mm long is inclined at 30° to the HP. The end A is 12 mm above HP and 20 mm in-front of
VP. Its front view measures 65 mm. Draw the top view of AB and find its inclination to VP,
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and 20 mm in-front of VP.

Q.3 A straight line CD 90mm long measures 72 mm in front view and 65 mm in the top view,.Draw the two views
of the line if it fully lies in the first quadrant. Find the inclinations of the line. Assume point C is 25 mm above HP
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